687

S0O-02
December - Examination 2019
B. A. Pt. | Examination
Society in India
HIRA § [T
Paper - SO-02
Time : 3 Hours ] [ Max. Marks :- 70

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig ued ux ‘o', ‘¥’ IR ‘W fiF @Wuel § A g1 ud
Gus & MGATTAR AT & IR QIS

Section - A 7X2=14
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qusg - 3
(rfer Ty IR Ue)
fAder: Tt weAl & IR SISTI 31T 310 TR DI WATTHAR Th 916G,
T Iy AT ferpad 30 orsgl H uRAfg Hifviel e ueT
2 3fpl Bl gl
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1) (i) Whatis modernization?

MY BT a1 g ?

(i) What do you understand from planned change?
o aRads & g or |era €2

(iii) Define Tribe.
TSR] @bl TR hiforg 2

(iv) What do you mean by secularization?

e — RO AT I 37T T AHeAd B 2

(v) What is Punch - YAGYA?
U ST T g 7

(vi) Who said, “Muslim Marriage is a legal contract”?
AT - fdaTg T B dfaar &', A wer g ?

(vii) Define city.
TR 1 IR Hfr|

Section - B 4 x7=28
(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

Qus - §
(oTg ITRIT UeA)
fAder: gl IR Ul & IR SIVI MY 3 ITR Bl fepay
200 orsgt ® gRAfAT HT| g U9T 7 3fpl &l gl

2) Write the characteristics of Globalization.

THUSTIPRUT 2 faervamy foTRead |
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3) Write the features of matricentric family in India.

IRA H AR IRaR & F&07 argd|

4) Discribe characteristics of urban community.

TR TG DI [GAATst &1 g BRI

5) Explain the importance of Hindu Sanskar.

fRg FEPRI &l e HifTT ?

6) Write a short notes on Purushartha.

gouTef IR Hféred fewuft forgyl

7) Elaborate the problem of language in India.

TR H TS I JHIT T AT ?

8) Discribe main problems of tribes in India.

AR H SIS Dl T AT T quie HifTg|

9) What are the factors responsible for changes in joint family
system in India? Explain.
IRT § Fgad IRaR uret! H gfvac & fory STRerRt HRS @@
g7 faoa Hifr|
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Section-C 2X14=28
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
14 marks.

Qus - |
(e IR o)
fAder : el Q1 Ul & IR ARV 31T 3o TR B 31fErepad 500
gegl B gRAfIT HITTI URd U 14 3fepi a7 2

10) Explain the main function of religion. Analize its present
tendencies and causes of change.
g & Uprf gaTed | g ot amegfer UgRml ok uRacd i & wrRol
@1 faeermor S

11) Explain the changes in the various institutions of Indian society
with the effect of western educatoin.

gregTey faem & U9 W YRA™ G & Ot gwensn #
ATl IR &Y IR DI

12) What is the reason for the low status of women? Explain.

et &t o7 fRART B =T PR | Ioorg HifTe ?

13) Explain the major problems of planned changes in India.

ART § MR uRecHT & o FRmal &6t R i |
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